In the Daytona 500 auto race, a Ford Thunderbird and a Mercedes Benz are moving side by side down a straightaway at 71.5 m/s. The driver of the Thunderbird realizes he must make a pit stop, and he smoothly slows to a stop over a distance of 250 m. He spends 5.00 s in the pit and then accelerates out, reaching his previous speed of 71.5 m/s after a distance of 350 m. At this point, how far has the Thunderbird fallen behind the Mercedes Benz, which has continued at a constant speed?

SOLUTION
The time for the Ford to slow down we find from
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Its time to speed up is similarly
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The whole time it is moving at less than maximum speed is 6.99 s+5.00 s+9.79 s=21.8 s. The

Mercedes travels
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While the Ford travels 
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To fall behind by 

[image: image7.png]1558 m-600 m= 9586 m




